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RBF70m%
No. B’F4 Bakl DES—LE(%) I fs
1| HE #— = ER 4 6 | 3-1 (22)+(36)=0.611 1
2 Rk B -UO B 0o 6 4 6 | 1-3 4
3 |&kBE T C-EM R 5 6 6 5 | 3-1 (23)+(39)=0.589 2
4 EA I -ED IERF 3 6 3 6 | 04 5
5 A FE -FH Bz 6 4 3-1 (23)+(40)=0.575 3
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No. BFR Bk DES—LE(%) [0
1|5 EE g A 6 5 | 3-1 (20)=(33)=0.606 3
2 B0 FIT - KB &A= 6 2 3 6 | 31 (21)+(29)=0.724 1
3 |KH BE -#HLE Ex 0 6 2 6 | 04 5
4 KF KR -HE B 2 6 3 6| 1-3 4
5 iIk B= &k F= 5 6 3-1 (23)+(37)=0.621 2
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No. B’FZ Bakk MBS —LE(%) [0
1| Bx -FE XF 6 3 | 2-2 3
2 ILF RF -&# BEF 5 6 6 5 | 1-3 4
3 |[BM AF -BE BEF 6 2 6 2 | 40 1
4 |[FH BF -2F HK 6 4 3 6| 2-2 2
5 |m)Il i -&HNEF 3 6 1-3 5
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BF4 1 Ba%| DB —LEM%) (-3
h5 EH-AWR fh— 6 5 | 3-1 (20)+(33)=0.606 3
EH B2 nfE 6 2 5 6 | 3-1 (23)-+(35)=0.657 1
it EE -SAK 1 6 3 6| 1-3 4
=% % -ER X 1 6 0 6 | 0-4 5
HE &4 -8H %3A 5 6 3-1 (23)=(37)=0.621 2
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EF4 1 ME%| WMEBT—LEM%) [[-tiv3
NHE & -l 'E=H 1-1 2
THR MB -HiKk XB 6 3 2-0 1
miE fEi -EKk XiE 1 6 0-2 3
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EF4 1 Ba%| WET—LE%) [[={iv3
BHETR-FNLEESF 2-1 2
Y BEF -HFORK 6 1 3-0 1
HMNAEF-RE BEF 0 6 0-3 4
mE %¥F -BREEF |RET 02 1-2 3




